BT 2019 4E 5 = 4R 9 A B A
2 R A e

R TR 0o ' 2019 %9 A 24 B E4 8 00~10: 00
EERm

LA A LS00 A THRE FAFFREALAFPREMZLE L,

2SR, BRSNS TR A A B ERRTAR, PER
HRBARTAE, FRAKCERIT, QEHLRAN HERBESAF L, BAAR
BRI,

3. KRG 4&4&1&;&»#%%‘? —#xm, _ .
—EERE(XXER 1208, ﬁfl\ﬁ 55,360 ﬁ.l’iﬁd\ﬁ%ﬂiﬁﬂ@’?'iﬁﬁ* AR
HEBEERN)

LBAES A= {xlx* -2x-3>0} ,B= 1x|15(x+1)-=1} J"!'J(ERA)HB =
C Adsl-1se<3] Bofal-lss<9) . C{al-1<x<3)
2.3 0> b, AT AR SR R A | '
A 2°<2

D. {zl -1 <x<9l

B. In(a-b)>0 - C.a¥>b¥ : D,‘|a|§,.“,|
3. B S, NIETEH B o, | IBT n TR, 255 S, +3S, -5, =0,H a, =1, ] q,
A.9 B.18 c.21

D. 27
4 JUTSES A — A EA R MR “ VR M, N R85 LAQB B—3h QA -9 5 ,RTE

QBAEHR—J P ﬁﬁ:ﬁMPNﬂ}’( N E ﬁzﬂ .&‘{Pj’slit

|||||

ﬂ@ EsFﬁEﬁa;lé#zTﬁ xOJ":P BEFRM(-1 2) N(1,4),

=P AE x B RSl , 2 £ MPN BRI , & P R AR 2
A.l B. -7
C.1s -7 - D2®-7"

5. M —A U =0, LA A B A T 5 ) I ;
FIBE RS B KAl N '

AT B\/_ ‘. : : EHH
C. /13 D. 4

A

p—

6. BH f(x )_33‘“" e - W RAECh

T

TRECERBE 1 W3k 7




7. BRI < =ay 0 F RN 1P I L1100 JETTE PF S C ty—Ak
R HPQ =4 FQ I FQI =

A3 4 848 8 8
Y B. 513 C.4j¢3 D

8. MERHS(x) = sin(2x - ) MEGUEA TR AL R (o) BRIR MU FHIBEEA
2

A, g(%) -1 S [T 3T

17 g ) LA
C.x= =7 & g(x) EARH—F A D. (g0) & g(x) BIZM—ARFRA L

9. ERMRE f(x) =2 +ax® +bx +cf(x) FLIEL (2,/(2) ) RhEYILT S (3 ,4) , i g(x) =
flx+1) R Er %, 0 b =

A.2 B.3 C.4 D.5
10. 7E AABC 1, 5 P i#% RBP =3 PC, 1 &5 P 9 H &5 4B, AC

FRAER TR I3 T 45 M, N. 5AM = X AB, AN = AC, (A B

>0,u>0), 0 A +p F1E/MER

P
2 3 3 5
A.?-i-l B.?+l C.-,-l- D.Eﬂ A —c
2 2 2

11.;;@;1f,‘—,+’b~2=1(a>b>0 ﬂiﬁlfﬁo = =-7=1(m>0,n>0)ELMF,F ,F, 735

S e ARV 18,00, B M SRR O Fei— RS0 A, L £ FAF, =T M3k

s 2 BTN SN O BT

1
A 2 B. t%i C. £ D. +2

12. ZRE f(x) =m - +3Inx E[%,c]ﬁﬁﬁﬁﬁ\ﬂimﬂ’ggﬁ'mﬂzxﬁ m B HUE Y

A1 de ] B.(1, ¢ -3] c.(1,3+:—3] D.(1,+%)
S HSE. AT 4 NE, BNES 5,320 5
13, @ p:c’ >e59: 3% e R, +dexg +1 <0,% p Ml q A HLALE —A B H A, W8 e
A ERE i 2
14, ﬁ%ﬁ.’.ﬁ@“ﬂgiﬁﬂ a, >0,Ha +a, =%v a, + a; ="i_sm|] lﬁﬂ:(“|“1“'“a) i I /M A

e G
IS, EANRREKf(x) = 12" =31 +2° +mx, FH f(x) =07EC0,4) L /1.
AT Y SR, WSS m i A A2 . E
16, W0, K H7 1 ABCD - 4,8,C,D, oh etz sy | WG, | #---tdJc
Wi 2 B, F,G,M 4514k AB,BC,CC, BB, 2, PRIE |/ P L
i ABCD f—h 2, 25 14k D, P 5 EFC AFFEASES W= 4 £ B

MAMCERES 2 TT(3L4 )



fl PBM AR/ MR .
S MEE:H70 5, BENSHTF AEMT RS RES R,

17. (10 4) E M p: J7 4 2sin’x =sinx +m -1 =0 {E z e IU,%}(‘EJ@:{E%—'%ﬁm;

g:VxeR,x* -2mx +1=0.
(1) 50 q R FLAE, SR IE m (R 70
(2)35 p \Nq MEARRE, SRIH m A HUE G .

18. (12 7})iIXeEE y =f(x) =sin(wx +¢),0>0,0<p<m,y=f(x) K y=f(x) i) 55,

#g(x) =f(x) +/3f (x) WERY, BIHEEM xR A g(x) <2.
(1)K g(x) ik

(2)4£0ABC th,f 4,B,C G551 a,b,¢,0 =00 =g( -2 R AABC HTTEURASL

19. (12 5) EMEFI a,}, b, Jb 0, =5,b, = -1, B o, =5 (a, , -b,_,),

n

(1)SRIE: 8051 | a, - b, | %25 B
(2)R¥F) 122 gty n R0 S,

ananH

B, = —% (a,.,-3b,_,) ,neN" ,n=2.

HPHIEERAES 3 F(364 )



20. (12 4}) EAIMREA(x) =ax’ +br+e(a>0,beR,ceR).
(DIFRE SO RN -1) = =1, L e=1,
F(x) ={ﬂ” 50
-f(x),x <0
(2)Fa=3,c=1, HIf(x) 1 <2 7EXME(0,2) LA, WK b (9B 6.

2R F(3) + F(-3) 1911

21 (12 5) 3l T3 B R IKIRAR 555 037 , B — HUE I ABCD 540 F G 7% . O
1:AB =120 X, BC =60 /K, BI7E R S8 B MR = /8K OF  EF 1 OF, R 55 O
AB B g, S E 7631 BC &, /5 F#E AD I, H. £ EOF =90°,

(1) 8 £ BOE =a, ik AOEF 8 | XF o (ORREBCRATS, 73R LI 60 72 LB
(2) ST, =R AR 20 1 2 300 I, 5050 U T A+ B 0 6 B 2820 1 7

2R s 5 I 9.
D c
E
F
A 0o B

22. (2 ) BREHS(x) =In(x+1) + — < +ax +b BISFEEN £ (x),7(0) =1, LK

F(z) =f(z) -f (x) FHEF 4 2 =0.
(1)3KREE a,b (9

(2) 220 W, ARER f(2) = TEAT RS, RIEH m BRETE (B EBIE:H R +x -1

=mu+nm—+ﬁmm%=%y

HAEFERES 4 T(3t4 )



@ A4t At
LEEREERE sz o

BEREFELLIAT 2014 F , REITEERE. FRRHE. 2ESENTHERSTS
I RAMUETRMERAERAER , KERFEEE  BRENEEEE 90%L EHNER
pEEIN. RKMNEFLE | SIERSERSRIIXE.

TR EIRBER BN EEIER , B RIEEREREZESMES | zizzsw,

MEE—3  RESTE

BRI : www.zizzs.com WIEZ=IR : zizzs2018

H ERMEARS : zizzsw Bifitgs 1 010-5601 9830


http://www.zizzs.com

	理数
	最后一页

